rgag 2a Ald diish, 88 dAE

No =] g T = e < = g
1 otor= 31.8%1.5tx5.8M = 1,560
2 ool = 25.4%1.5tx5.8M = 1,590
3 e 5.8M = 240
4 Az 32 H 1,200
5 HZE 25 H 1,800
6 END)| 32%25 H 12,000
/ ENP)| 25%32 H 4,500
8 ZclH 32%32 H 1,800
9 JESR 32 S 120
10 JES 25 S 120
11 otfAIE 25 H 1,200
12 MSDEH H 300
13 meszu H 300
14 defu¥E+ 32 N 280
15 JHHI DI =H H 9
16 oA (&) = 18
17 TS = 21
18 ZAHE=E N H 24
19 A 75%*9M*50M H 6
20 OtSABHE 500M H 6
21 Y= 2,100%1,300 H 12
22 cgd 60x30+5M = 6
23 [} 0.1%650%100 box 6
24 =[S 0.1%100%100 = 9
25 2XHIE 0.1%10%200 = 6
26 LBt 5.8M = 180
27 Ol 2t 2,400%1,200 g 375
28 TUES 32 H 1,050
29 2tA = 9
30 e =P) 24-1/320¢ H 7,500
31 &=l 2HP CH 2
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